MICROECONOMIC PROBLEMS

HOMEWORK #3, 8TH OF MARCH 2005

Problem 1

Bad situation in the healthcare system is partly a consequence of the command economy approach to distributing the medical services. Each of us, regardless of income level, receives a certain basket of public medical services and spends quite a lot of money on additional private medical care. How would the situation be changed if we introduced paying for both public and private services?

A couple of assumptions:

1. Consumer chooses between two goods: guaranteed public services (P) and private specialized services (N).

2. Each consumer can only consume 10 units of P

3. The consumption of private services depends on income and each consumer spends on these services 200. It is also hinging upon a price (pN=50).
Draw the budget constraint. Define how many units of public and private services will the consumer be willing to consume (assume the utility curve of U=P*N)?

The state wants to introduce payments for public services with pP=10. By how much would the state need to reduce taxes if the consumer was to approve this change?

Problem 2

Agata consumes two goods (x and y) and her utility function is given by U(x,y)=min{x+2y,y+2x}. Draw the utility map for her.

We know that Agata consumes 8 units of x and 16 units of y. We also know that the price of y equals 0.5. What is the price of x? And what is her income?

Problem 3

The community council in one of the districts with high unemployment rate wants to revoke the food and cloth packages distributed each month among the poorest citizens (the package contains 10 units of cloth and 15 units of food). The council decided to distribute financial subsidies instead. The utility curve of a typical citizen may be approximated by U=F*C. We know that one unit of cloth costs approximately 6 while in the case of food the unit cost equals 3. Define the minimum subsidy per person so that there was a wide consensus for the change. 
Problem 4

The owner of the photo spot decided to launch a new marketing campaign. He offers a discount card to his clients – they will enjoy lower prices of photo prints. He argues that if you buy the card, then – assuming that all the rest of the income you can spend on photo prints – you will be able to afford more prints than without a card.

You are indifferent between owning a card and not – it is not on your utility curve. Demonstrate graphically that if you buy the card you will be ordering more photo prints than before.

Assume that your preferences satisfy all the axioms (they are “well defined”). Furthermore, assume that your utility function is defined over two arguments: x (the photo prints) and z (everything else you buy).
